
Wie lautet die fehlende Zahl (bis 5.000)?

Aufgabe 1

1. 3 316 -     =  1 446

2. 4 599 -     =  2 154

3. 4 300 -     =  754

4. 3 854 -     =  132

5. 4 357 -     =  2 371

6. 3 743 -     =  2 053

7. 2 892 -     =  1 788

8. 4 143 -     =  2 330

9. 3 702 -     =  79

10. 3 805 -     =  1 257

Aufgabe 2

1. 4 237 -     =  551

2. 1 997 -     =  505

3. 2 985 -     =  26

4. 4 831 -     =  4 220

5. 3 268 -     =  330

6. 4 885 -     =  784

7. 4 950 -     =  2 370

8. 3 395 -     =  261

9. 3 335 -     =  1 684

10. 4 585 -     =  3 540

Aufgabe 3

1. 4 208 -     =  3 444

2. 1 422 -     =  775

3. 2 358 -     =  168

4. 4 205 -     =  3 131

5. 4 071 -     =  227

6. 3 826 -     =  786

7. 4 782 -     =  1 417

8. 4 465 -     =  2 078

9. 4 785 -     =  2 381

10. 1 859 -     =  360

Aufgabe 4

1. 3 893 -     =  2 251

2. 3 741 -     =  1 846

3. 4 850 -     =  1 577

4. 3 766 -     =  3 212

5. 4 837 -     =  2 803

6. 4 118 -     =  2 042

7. 2 852 -     =  1 371

8. 4 037 -     =  382

9. 4 989 -     =  736

10. 3 259 -     =  2 087
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Wie lautet die fehlende Zahl (bis 5.000)?
| ANTWORTEN

Aufgabe 1

1. 3 316 -  1 870  =  1 446

2. 4 599 -  2 445  =  2 154

3. 4 300 -  3 546  =  754

4. 3 854 -  3 722  =  132

5. 4 357 -  1 986  =  2 371

6. 3 743 -  1 690  =  2 053

7. 2 892 -  1 104  =  1 788

8. 4 143 -  1 813  =  2 330

9. 3 702 -  3 623  =  79

10. 3 805 -  2 548  =  1 257

Aufgabe 2

1. 4 237 -  3 686  =  551

2. 1 997 -  1 492  =  505

3. 2 985 -  2 959  =  26

4. 4 831 -  611  =  4 220

5. 3 268 -  2 938  =  330

6. 4 885 -  4 101  =  784

7. 4 950 -  2 580  =  2 370

8. 3 395 -  3 134  =  261

9. 3 335 -  1 651  =  1 684

10. 4 585 -  1 045  =  3 540

Aufgabe 3

1. 4 208 -  764  =  3 444

2. 1 422 -  647  =  775

3. 2 358 -  2 190  =  168

4. 4 205 -  1 074  =  3 131

5. 4 071 -  3 844  =  227

6. 3 826 -  3 040  =  786

7. 4 782 -  3 365  =  1 417

8. 4 465 -  2 387  =  2 078

9. 4 785 -  2 404  =  2 381

10. 1 859 -  1 499  =  360

Aufgabe 4

1. 3 893 -  1 642  =  2 251

2. 3 741 -  1 895  =  1 846

3. 4 850 -  3 273  =  1 577

4. 3 766 -  554  =  3 212

5. 4 837 -  2 034  =  2 803

6. 4 118 -  2 076  =  2 042

7. 2 852 -  1 481  =  1 371

8. 4 037 -  3 655  =  382

9. 4 989 -  4 253  =  736

10. 3 259 -  1 172  =  2 087
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